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ADULT EDUCATION

Paper - 111
Note : This paper contains seventy five (75) I(;bjective type questions of two (2) marks each. All
questions are compulsory.
1.  Which of the following is not the sociological viewpoint on curriculum ?
(1) Curriculum should be based on the Psychological problems of adult learners.
(2) Curriculum should be based on the conditions, problems and need of the society.
(3)  Curriculum should reflect the basic cultural values of the society.

(4)  Curriculum should be an agent in the transmission of the highest values of culture.

2. A negative coefficient of skewness implies that :
(1) Mean is greater than mode. (2) Mean is less than mode.

(3) Mean is equal to mode. (4) Mean is less than median.

3.  Continuing education is useful for teachers in
(1) Veritying their existing knowledge
(2)  Understanding new knowledge
(3) Qualifying new exams
(4) All of the above

4. These days students are made to study only from textbooks and the mode of instruction is
mainly through lectures; students should be permitted to

(1) use laptops if they have access to such aids.
(2) use cheap guides produced in the market for quick preparation for examinations.
(3) take the support of their elder brothers for help in the examination halls.

(4) use copying as an aid to pass the examination.

5. Who said that “the state exists and should aim at the greatest good for all” ?
(1) Mahatma Gandhi (2) Plato
(3) Aristotle (4) Swami Vivekanand

6.  Learning does not lead to the formation of
(1) Attitudes (2) Thinking
(3) Morality (4) Habits
Paper-111 2 J-46-16
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Which of the following research methods is not followed in social sciences ?
(1) Basic Research (2)  Survey Research
(3) Action Research (4) Applied Research

Persistent female illiteracy is a major impediment to women’s empowerment. Which of
the following statements is not correct ?

(1) mothers-in-law through literacy and education.

(2) women and adolescent girls through literacy and education.

(3) mothers through literacy and education.

(4) men through literacy and adult education.

The maximum initial contribution to the process of socialization, in general, comes from
(1) Community (2) School
(3) Home (4) Teacher

The most important function of education is
(1) Economic development (2) Industrial development
(3) Human resource development (4) Political development

Which of the following is not a characteristic of the scientific method ?
(1) Verifiable evidence (2)  Accuracy
(3) Systematic nature (4)  Subjectivity

The 73" Amendment to the Constitution of India relates to the
(1) Centralization of powers.

(2)  Universalization of elementary education.

(3) Powers to the Panchyati Raj institutions.

(4) None of the above

Which of the following campaigns was conducted since 1992 by Bharat Gyan Vigyan
Samiti ?

(1) Kalajatha Campaign (2)  Gram Shikshan Muhim

(3) Sarva Shiksha Abhiyan (4) Total Literacy Campaign

Which of the following helps in measuring the effectiveness of different extension
methods ?

(I) Mobilization (2) Training

(3)  Supervision (4) Evaluation

The concept of a Rural University was recommended by
(1) Radhakrishnan Commission (2) Hunter Education Commission
(3) Kothari Commission (4) None of the above
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Which one of the following is not the function of a State Resource Centre (SRC) ?
(1)  Staff recruitment for the National Literacy Mission.

(2) Knowledge generating.

(3) Technical assistance service

(4) Planning and management

Literacy Teaching materials are guides for classroom activities, that teachers can use to
(1) develop project officers’ literacy skills and knowledge of particular content.

(2) develop supervisors’ literacy skills and knowledge of particular content.

(3) develop adult students’ literacy skills and knowledge of particular content.

(4) develop instructors’ literacy skills and knowledge of particular content.

In which State of India is the Literacy House situated ?
(1) Bihar (2) Gujarat
(3) Uttar Pradesh (4) Rajasthan

Action research enables

(1) researchers to become aware of themselves as both the products and producers of
history.

(2) researchers become good story tellers.
(3) actors become good at acting.
(4) film producers can produce good action films.

The main objective of research is to

(1) improve qualification

(2) increase popularity

(3) increase knowledge systematically

(4) fulfil essential qualifications for service

The main reason for learners’ dropping out from the literacy programme is
(1) lack of teaching-learning materials (2)  local factions
(3) lack of competitive environment (4) lack of motivation

Which one of the following is not part of Contemporary Adult Education ?
(1)  Primary School Education

(2) Continuing Education

(3) General Adult Education

(4) Educational Programmes related to Community
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Which among the following is not correct about culture ?
(1) Itis an acquired pattern of living.

(2) It may be ancient, medieval or modern.

(3) Chandni Chowk in Delhi has a grains market.

(4) It varies from country to country.

Individual differences are not found in
(1) Environmental situations (2) Cognitive situations
(3) Emotional situations (4) Fixed rates in market

Which of the following phrases is different from the other three phrases ?
(1) Null hypothesis (2) Statistical hypothesis
(3) Declarative hypothesis (4) Statement of the problem

Meaning of social justice for all citizens implies
(a) Adequate scholarship

(b) Freedom from exploitation

(c) Equal opportunity for every individual

(d) Common school system

Codes :
() (a)and (b) (2) (b) and (c)
(3) (c)and (d) (d (a) and (d)

Necessary factors for effective adult learning are : Use the code given below :

(a) Motivation (b) Discipline

(c) Feedback (d) Reinforcement
Codes :

(1) (a), (b)and (c) (2) (b), (c)and (d)
(3) (b)and (c) 4) (a), (c) and (d)

The components of the Need Hierarchy Theory of A.H. Maslow are :

(a) Need of employment (b) Physical need
(c) Educational need (d) Need of security
Codes :

(1) (b)and (c) (2) (b)and (d)

(3) (a) and (b) (4)  (c)and (d)
Which of the following skills are considered important in an NGO volunteer ?
(a) Interpersonal skills (b)  Advocacy skills
(c) Self-management skills (d) Hostility

Codes :

(1)  (b)and (d) (2) (a),(c)and (d)
(3) (), (b) and (c) (4)  (b), (c) and (d)
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(3) (a), (b) 3R (c) @) (b), (c) 3 (d)
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31.
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33.

34.

35.

Individual Hobby promotion programme includes :

(a) Painting (b) Vocational training
(c) Cooking (d) Music

Codes :

(I) (a) and (b) (2) (a), (b) and (c)

(3) (b), (c) and (d) (4) (a), (c) and (d)

Human factors affecting training programme are : Use the code given below :

(a) Objectives (b)  Subjects/Contents
(c) Trainer (d) Participants
Codes :

(1) (a) and (b) (2) (c)and (d)

(3) (b)and (c) (4) (b)and (d)

The objective of extension education is to : Use the code given below :

(a) Promote primary education (b) Disseminate useful information
(c) Create awareness (d) Develop the skills

Codes :

(1) (a) and (b) (2) (a), (b) and (c)

(3) (b, (¢) and (d) (4) (), (c)and (d)

Skills of a manager includes : Use the code given below :

(a) Human skills (b) Conceptual skills
(c) Technical skills (d) Cooking efficiency skills
Codes :

(1 (@, (), (d) (2) (@), (), (©)

(3)  (b), (0), (d) 4 (a),(b), (d)
Quality of a researcher is : Use the code given below :

(a)  Shortcut approach (b) Hardworking

(c) Curious (d) Influential
Codes :

(1) (a) and (b) (2) (a), (b)and (c)
(3)  (b), (c) and (d) (4)  (b)and ()

Which of these audiovisuals are used in adult education ?
Use the code given below :

(a) Radio (b) Projector
(c) Flash card (d) Television
Codes :

(1) (b)and (d) (2) (b) and (c)
(3) (a)and (b) (4) (c)and (d)
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(c) STREehaT a7 e (d) PRTA HT T HET
;\R:
(1) (a) 3R (b) 2)  (a), (b) 3 (c)
(3)  (b), (c) 3 (d) @ (), (c) 3R (d)
33. VEE o NIt H T IMHA & ? Hid ST 1T P T AT HifSTT
(a) S IE LGN (b) STTURTCH HIFTCT
(c) TRl I (d) S M § gorar srret
G T
(D (@), (©), @ 2) (@), (b), ()
3)  (®), (©), ) @ (@), ®), (@
34, TR B T 0T & 2 S ST T e i IR HifT
(a) TN T TR (b) g
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;\R:
(1) (a) 3R (b) 2)  (a), (b) 3 (c)
(3) (), (c) 3 (d) @) (b) 3R (c)
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36.

37.

38.

39.

AIDS is transmitted through

(a) sexual intercourse

(b) blood transfusion

(c) mosquitoes and other blood sucking insects
(d) the placenta of the mother

Codes :
() (b), (c) and (d) (2)  (c)and (d)
(3) (a), (b)and (d) (4) (b)and (c)

Pilot survey in a research relating to a new program is conducted

(a) After finishing research (b) In the beginning of research
(c) In the middle of a research (d) Before beginning of a research
Codes :

(1) (b) and (d) (2) (a)and ()

(3)  (d)and (¢) (4)  (a)and (d)

The objectives of Sarva Shiksha Abhiyan were

(a) Primary schooling by 2007 (b) Elementary schooling by 2012
(c) Back to school camp by 2003 (d) Universal Retention by 2000
Codes :

(1) (@, (b), (c), (d) (2) (@), (), (©)

(3)  (b), (0), (d) (4)  (b) and (d) only

Match the names of the countries given in List — I with the period of tension given in
List — II. State your answer from code given below :

List - I List - IT
(a) USSR (i)  1950-1980
(b) Vietnam (i)  1960-1980
(c) China (i) 1919-1939
(d) Myanmar (iv) 1945-1977
Codes :

(@ (b (© (@
H @ G Gv) (3G
2 @) @Gv) @O 3G
3 @) @H G @)
@G @O @ @>@) Gv)
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3) (), (©). (d) (4) e (b) 3R (d)
39, TA-1 AT A 5T T 30 R GALIL H 5T T A B erafy o T % W GRfed e | A R
T FZ H FAT T
=t - 1 =t - 11
(a) JTATEAR. (1)  1950-1980
(b) o™ (i)  1960-1980
(c) == (i)  1919-1939
(d =ER (iv) 1945-1977
E T
@ @G © @
(h @ (@) (v) (1)
(2) (i) @Gv) @) (1)
(3) @) (@ (@) (@1v)
@ @O @G @) >[Gv)
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40. Match the List — I with List — II :

List - 1 List - I1
(a) India (1) UNESCO Fundamental Education Centre
(b) Nepal (i)  Department of Public Instruction

(c) Philippines  (iii)) National Non-formal Education Council
(d) Thailand (iv)  National Fundamental Education Centre
Codes :
@ @ © @
(Hh ® @Gy (@Gv) (i)
(2) Gy (@) @Gv) @)
(3) Gv) (@) (@) (@)
4 O @ G @Gv)

41. Match the items given in List — I with those given in List — II in terms of instruments or
products and select the correct answer from the codes given below :

42.

Paper-I111 14

List -1 List - IT
(a) Audio (1) Folk Music
(b)  Visual (i)  Flash Card
(¢)  Audio-visual (11) Radio
(d) Traditional (iv) Television

Codes :
@ ® @© (@

() @) G Gv) @
@) @) @Gv) @@ @
3 @ Gv) @) (i)
@ ) @ (@) Gv)

Match the items given in List-I with those given in List — I and select the correct answer
from the code given below :

List -1 List - II
(a) National Technology Mission (1)  Mass approach to achieve literacy
(b)  Universalization of Primary (1))  Quality of life improvement
Education programme
(c) National Literacy Mission (111)  Universal enrolment
(d)  Continuing Education Programme (iv) Drinking water

Codes :
@ ® @© (@

(H Gv) @G @ 3G
@ @O @ (@) Gv)
(3 Gv) @G G @
@ @) @Gv) @O (>G)
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40. -1 0 GEA-11 3 T2 GAford L |

41.

42.

J-46-16 15

=t - 1 =t - 11
(a) A (i) IRl gorge ferem s
(b) =T (i)  QESIE ST o
(c) Toheldmm (i) UL TR-foanie e akug
d) emRis  (iv) T e e e
[ YA

(=N

(@ (b (© (@
1 @ @ (Gv) (i)
@ ) @) Gv) @
(3 Gv) @G G @
@ @O @ @) Gv)

Gell-1 <l H&T ol Gell-I1 <t T&T o T YT 7 IR % G5 H GHferd Y | A JT 10 e
TR AT -

=t - 1 = - 10
(a) et (z=) () o qe
(b)  gfae (fageren (i) A B
(c) olfea-fostera (y=a-givas) (i) fear
(d) YIRERE (iv) ehifasH

£

@ (M (© (@
(H (o ) Gy @O
(2) () @v) @) @®
3 @O Gv) (@) (31
4 @) @ () (@1v)

Telt-1 <l HRT BT Ge-11 T H&T % Q1 GHfeId Y ST A ST T e 1 7T e
=t - 1 =t - 11

(a) T WA TR (i) HTERAT U S S geehioT
(b) VeI foreT (i)  STa GER HEHT St IoTET

Hr IR
(c) T WeRar e (i)
(d) G forem SrsHT (iv)
B

(=N

Hranifes deiientor
YT

@ () (© (@
(H Gv) @) @ ()
2 @ @G @ @Gv)
(3) Gv) @) G) ()
@ i) @Gv) @ (D)
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43.

44.

45.

Match the names given in List — I in terms of programme mentioned in List — II :
Select the correct answer from the codes given below :

List - I List - IT
(a) Manmohan Singh (1)  20-Point Programme
(b) Narendra Modi (i)  Sakshar Bharat Abhiyan
(c) Rajiv Gandhi (11) National Technology Mission
(d) Indira Gandhi (iv)  Beti Bachao Beti Padhao

Codes :

@ @ © @
() Gi) @Gv) @G @)
(2) Gy (@Gv) @) @)
(3) i) @Gv) (@ ()
4 O @ G (@Gv)

Match the terms given in List — I with those in List — II. State your answer from code
given below the lists :

List - 1 List - IT
(a) Social Reconstruction Programme (i) Subba Rao
(b)  Rural Reconstruction Activities (i) YMCA
(c)  Sriniketan (ii1)) Tagore
(d) Constructive Programme (iv)  Gandhi

Codes :

@ @ © @
(H Gy @) @O (Gv)
(2) ) @ @ (av)
(3) i) @Gv) (@ ()
4) i) @Gv) @G @)

Match the items given in List — I with those given in List — II in terms of persons using the
code given below the list :

List -1 List - IT
(a)  Anti-Arrack Agitation (1) Neo-literates
(b)  Jan Shikshan Sansthan (i)  Neo-literate women
(c) Total Literacy Campaign (1) Master trainers
(d) Training of Trainers (iv) Illiterates

Codes :

@ @ © @
(h ® (@) @Gv) (1)
(2) Gy (@) @Gv) @)
3 Gy @@ (@v) (i)
4 O @ @G @Gv)
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43.

44.

45.

TAI-1 & Tl G-I T 3feciiad SHrRIsHHT o A1 AT Y 3R A ST 7T % 1 T e g
TE IW ﬂﬁq :
=t - 1 =t - 11
(a) TRATEE (1) 20-T HEEET
(b) X AR (i) TR IR =
(c) TSI TEr  (ii) IS SRR e
(d) R (iv) S ST 92l ugren
£
(@ @® (© @
() (i) @Gv) G @)
() (G @Gv) @i) @)
(3) (i) (v) @) i)
@ G () @[ (1)

Gell-1 1 T&T 1 Glt-11 <l BRI o 91 GHfeTT e | =il 3T 1T 3 T WENT 3 §U ST SIS
T -1 = - 10

(a) WIS GAFEDT HREEHT (i) g I

(b)  THOT AFET SRR (i) ASUEET

(c) SifTehea (iii) W
(d) TIATCHE HrEHH (iv) e
®HT:

(=N

(@ (b (© (@
H a) @G @ @)
@ @) @ @ @)
(3 @) Gv) @ (>G)
@ @) @Gv) @@ @

TAI-1 S AR BT GA-IL T BT o T Al o Ged § gaferd s 3R T KT 1T % o
T U 3T I

=t - 1 = - 10
(a) Hedl IR fOEt oTle (1) AA-EmRR
(b) S Toreror T (i) TI-TRR At
(c) TYUT HIERAT A (i) AR UiTETH
(d)  f¥TeTsRi T HTTeTOT (iv) Tw

- T4

(=N

(@ (b (© (@
H @ G Gv) (3G
@ ) @) @Gv) @
3 @ @ (v) (i)
@G @O @ @>@) Gv)

J-46-16 17 Paper-I11



46. Match the items given in List — I with those given in List — II. State your answer from
code given below the lists :

List - 1 List - IT
(a)  Social Education Programme (1) 1978
(b)  Farmers Functional Literacy Programme (1) 1988
(c) National Adult Education Programme (ii1)) 1948
(d) National Literacy Mission (iv) 1968
Codes :

(@ (b (© (@
H a) @G @ @)
@ @) @ @ @)
(3 @) Gv) @ (>G)
@ @) @Gv) @@ @

47. Assertion (A) : In a structured interview, the wording of the questions and the order in
which they are asked remains the same in every case.

Reason (R) : Generally, structured interviews are regarded as appropriate for obtaining
answers to questions of fact-such as the age, sex of the respondent.

Codes :

(1) (A) is true, but (R) is false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) (A) is false, but (R) is true.

(4) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

48. Assertion (A) : Illiteracy is higher in poor and under-privilleged sections of society.
Reason (R) : Livelihood, not education, is the priority of poor families.
Codes :
(1) (A) is correct and (R) is false.
(2) (A) is false and (R) is correct.
(3) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(4) Both (A) and (R) are false.

49. Assertion (A) : Education is an essential component of quality of life improvement.
Reason (R) : Quality of life can only be improved by economic development.
Codes :

(1) (A)is correct and (R) is false and (R) is not the correct explanation of (A).
(2) (A) is false and (R) is correct.

(3) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(4) Both (A) and (R) are correct.

Paper-I111 18 J-46-16



46, AL T T G T 5w G 1 S T g o T e g S SR

T -1 = - 10
(a) TSI TRTeTT hTaishH (i) 1978
(b) THEM T TS TERAT BEHA (i) 1988
(c) A v fenetr ke (i) 1948
(d) TR FERAT e (iv) 1968

T4

(=N

(@ (b (© (@
H a) @G @ Gv)
@ @) @ @ @)
(3 @) @Gv)y @O (>G)
@ @) @Gv) @@ @

47. ANUHAA (A) : AT TRICHR H U9 T 9165 99 3R 519 69 | 3% YT ST &, U A |
T A E |
FROT(R)  : Iod QETEhR SR WX SR (FUS=2) i 37, ol S U9t & 3T U= &
foTT Sz oM S € |

E

(1) (A)TEHE W(R) TETE |

(2) (A) 3T (R) I et & T (R), (A) I Tl AR & |
(3) (AT g, W(R) W& |

(4) (A) 3R (R) T Tl €, W (R), (A) ! Tel AT &1 & |

48. AMUHYT (A) : R TS & TR 3R Teq-Fraem ure =i § 37k et € |
HROT(R)  : forenr &, sfeeh emiiferest Wis 9eRT =) wmafiesdr gt € |
TN
(1) (A)TEE IR (R) T T |
(2) (A)TATE AR (R) T T |
(3) (A)TE(R) W& 3 (R), (A) i Tl A=A € |
(4) (A) T (R) I TToid € |

49. Ffimea (A) : foreT S & UR i JoTET 61 U TEvEd I |
HROT(R) @ Siie o Jora § sheel 37Tk [oehd R GUR A ST Gehell € |
TN
(1) (A) T ¥ 3R (R) Teid & T4 (R), (A) o Hel oA & ¢ |
(2) (A TTod & 3R (R) T&T & |
(3)  (A) 31T (R) I et & T (R), (A) I Tl AR & |
(4) (A) AT (R)IAT W€ |
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50.

S1.

52.

53.

54.

Assertion (A) : The adult learners are mature and experienced.

Reason (R) : Adult learners can understand both anecdotal and conceptual subjects.
Codes :

(1) (A) is correct and (R) is false.

(2) (A) is false and (R) is correct.

(3) Both (A) and (R) are correct.

(4) Both (A) and (R) are false.

Assertion (A) : Education’s main function is to transmit the society’s dominant culture.
Reason (R) : Cultural goals and values differ widely both among and within societies.
Codes :

(1) (A) is true, but (R) is false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) (A) is false, but (R) is true.

(4) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

Assertion (A) : An All India tribal movement has not emerged in Indian society.
Reason (R) : There is diversity and unevenness among the tribes of India.
Codes :

(1) Both (A) and (R) are true.

(2) (A) is true but (R) is not the correct explanation of (A).

(3) (A)is only true.

(4) (R) is correct explanation of (A).

Assertion (A) : Training helps in achievement of effective performance by the students.
Reason (R) : Educational qualifications not training, help in satisfying needs of students.
Codes :

(1) (A) is correct and (R) is false.

(2) (A) is false and (R) is correct.

(3) Both (A) and (R) are correct.

(4) Both (A) and (R) are false.

Assertion (A) : The purpose of privatization of Education was to improve the quality of
education.

Reason (R) : Privatisation of Education has resulted into mushroom growth of
educational institutions.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, and (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

Paper-111 20 J-46-16



50. efimee (A) @ vie feremedf aRus SR STvel Bl € |
FROT(R) Wi Foreme’ Surermieres 3 SaaRoneTs a! fovg S §os 9 ¢ |
TN
(1) (A)FET 3R (R) T & |
(2) (A) T & 3R (R) T& & |
(3) (A) AT (R) I T T |
4) (A) IR (R) I TATE |

51. e (A) : 78T T H% 1 ST i Ueel WEhid T TaR AT € |
HROT(R)  : TiEHiceh 3299 3 Jod THS & s 3 Hiek sHi § e &0 9 f= 8 € |
TN
(1) (A)TEE W (R) T E |
(2) (A) W (R) THT &t & 3 (R), (A) I T&l AT |
(3) (A)TAdE, W(R) W ¥ |
(4)  (A) W (R) THT F&t &, W (R), (A) I T AT T € |

52, rfWe (A) : 3IREeT WRA ST STRIC 1 TR THST § WG el 37 § |
HROT(R)  : 9RA B ST (Zresd) | faferear 3T fowmar € |
TN
(1) (A) R (R) I TEIE |
(2) (A) T, W (R), (A) HI Tel AT T&l & |
(3) A (A) TEE |
4) (R),(A) R T AT |

53. ATHHUT (A) : TR ST §T UHIEICATGeh - Fure i Wiitd H Ferddl el & |
FHROT(R)  : URTEI0T T, Sfceh Y1eTeh 3TecTd ST i STevaehdTel i Ufd H T&raar Hd € |
TN
(1) (A)TEE R (R)TATE |
(2) (A)TATE AR (R) T T |
(3) (A) AT (R) I T T |
4) (A) AT R) I TATE |

54, rfwrmee (A) : Torem o TsTion<or o1 329 T9TeTT <Rl TJuTerT W GER T o7 |
FROT(R)  : T¥1em & FSTeReon 61 aRoTe SretfuTeh S st 9T g & ®9 H T ST € |
TN
(1) (A) W (R) I Tl € 3R (R), (A) i T& AN E |
(2) (A) W (R) T W&l € 37 (R), (A) T T&l =& Tél & |
(3) (A)TEE WR) TATE |
4) (AT g, WR) T & |
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5S.

56.

57.

58.

59.

Assertion (A) : North Eastern States are not facing any crisis with regards to female sex
ratio.

Reason (R) : There is an increase of education among women in these states.
Codes :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2) (A)is false, but (R) is true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are false.

(4) (A) is true, but (R) is false.

Assertion (A) : Adults learn in an atmosphere of active involvement and participation.

Reason (R) : Learning is an active process conducted in an atmosphere of openness and
encouragement.

Codes :

(1) (A) is true, but (R) is false.

(2) (A) is true, but (R) is not the correct explanation of (A).
(3) Both (A) and (R) are false.

(4) (A)is true and (R) is the correct explanation of (A).

Assertion (A) : Many socio-economic factors contribute to infant mortality.
Reason (R) : Malnutrition and poor health can lead to infant mortality.
Codes :

(1) (A) is correct and (R) is false.

(2) (R)is correct and (A) is false.

(3) Both (A) and (R) are false.

(4)  (A) and (R) are correct and (R) is the correct explanation of (A).

Assertion (A) : The adult learners are heterogeneous and have diversified goals.
Reason (R) : An adult educator should have a multidimensional personality.
Codes :

(1) (A) is correct and (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(4) Both (A) and (R) are correct and (R) is not the correct explanation of (A).

Arrange the steps of research work in ascending order :
(a) Development of research design (b) Data collection

(c) Identification of the problem (d) Conclusion (Results)
(e) Data analysis
Codes :

(1) (), (b), (e), (c), (d)
(2) (), (a), (b), (e), (d)
(3)  (¢), (b), (a), (e), (d)
4) (@), (c), (b), (e), (d)
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55. AfUHY (A) @ ST YT T5F Higell foT ST o "ol | foRdl ek o1 TIHAT TE L E |
FROT(R)  : 7 ToA1 § AT i 91 aei € |
TN
(1) (A) W (R) 341 T&l €, W (R), (A) Sl Tl A7 @i € |
(2) (A) 7o &, W (R) &l & 3R (R), (A) Ff Gel AT |
(3)  (A) 3R (R) SHI ToAT & |
(4) (A)"E T, W(R) TAT & |

56. ATUHAT (A) : Yig fad Tlpg 9 T A B 2T T STareror § 9iEer € |
FROT(R)  : TG (3Te5) U Qiohd URHAT €, ST Golua 3R WiedTe o Sama)oT | ST
i ST E |

TN

(1) (A)TEE, WR) AT |

(2) (A) W, W (R), (A) HI Tel A7 &I ¢ |
(3) (A) AT R) I TATE |

(4) (A WEIT 3R (R), (A) F T AT |

57. AfHAT (A) : T FHISTR-IH HR ¥ T H ATRH 3 € |
HROT(R)  : FUNUT 3R HASIR @ F 1] 9o & gebell ¢ |
TN
(1) (A)FET 3R (R) T & |
(2) (R) W& 3 (A) T ¢ |
(3) (A) AT (R) I TATE |
(4) (A) 3T (R) T € T (R), (A) H Tel A& & |

58. afwwa (A) : Hie el fawrsd g € 3 39 fofow eemea |
HROT(R)  : Uig o1 ol Sganram safeied 1 & =ieq |
TN
(1) (A) " T 3R (R) Tod & |
(2) (A) AR (R) IH T € |
(3)  (A) 3T (R) 3HT W&l & @ (R), (A) i Tel AR |
(4) (A) 3R (R) 3T el & 41 (R), (A) ! el A& &l ¢ |

59. 3 M o =N o SRl 567 H AR DI -

(a) Iy TesTTed & g™ (b) T T T
(c) THET & TedH (d) T (aRom)
(e) T H favITOT

T

(1) (@), (b), (e), (c), (d)
(2) (), (a), (b), (e), (d)
(3)  (¢), (b), (a), (e), (d)
4) (@), (c), (b), (e), (d)
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60. Arrange the stages of social change through innovation in order of their occurrence :

(a)  Diffusion (b) An innovation
(c) Adoption (d) Social change
Codes :

(1) (b), (@), (c), (d)
(2) (@), (b), (c), (d)
(3) (), (b), (a), (d)
4 (b), (@), (d), (¢)

61. Arrange for a scale of performance the following in correct order :

(a) Ordinary (b) Dull

(¢) Slow (d) Very good
(e) good

Codes :

(1) (a), (b), (0), (e), (d)
2) (), (0, (@), (e), (d)
(3)  (b), (), (0), (e), (d)
4 (c), (b), (a), (e), (d)

62. Which of the following is not a strategy in adult education instructors’ training ?
(1)  Workshop (2) Seminar
(3) Business Conference (4) Simulation

63. Match the items given in List — I with the item given in List — II. Use the code given
below the lists :
List -1 List - II

(a)  Sarva Shiksha Abhiyan (1) 1991
(b)  District Primary Education Programme (1) 1995
(c) National Elementary Education Mission  (iii)) 1994
(d) Minimum Levels of Learning (iv) 2001-02
Codes :

@ () (© (@
() Gv) @) G) 1)
(2) i) @Gv) G @)
(3) Gv) (i) @ ()
@ @® Gy @) @Gv)

64. Re-arrange the Union Territories which have high density of population as per Indian

Census of 2011:

(a) Chandigarh (b)  Puducherry
(¢) NCT of Delhi (d) Daman & Diu
Codes :

(1) (a), (b), (c), (d)
2)  (b), (@), (c), (d)
(3)  (¢), (d), (a), (b)
4 (c), (a), (b), (d)
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60. AT % HIEEH W WA UREA o =0T Sl ok Hied 8 o Ty H SAad Hifsy :
(a) TewREH (fawarom) (b) TEY
(c) STIEPR HE (d) s aREd
;\R:
() (b), (), (0), (d)
(2) (a), (b), (), (d)
3) (c), (b), (@), (d)
4)  (b), (a), (d), (¢)
61. frfcfad E-Foe & T (TheT 31T WHIHE) i Fel shH | Zaed i
(a) TEROT (b) RH
(c) (d) &a 3TN
(e) 3T=1
;\R:
() (a), (b), (0), (e), (d)
(2) (b, (c), (), (e), (d)
3) (b, (a), (c), (e), (d)
4 (c), (b), (), (e), (d)
62. Fr=foiiad & ¥ i ¥ g ForeT SFReTeR! o Hf¥TeTor st W &l § 2
(1) RRIen () fEEr
(3) UR e (qu%l °hvl%H) @ f@gﬁ?ﬁ
63. TeTeiEd geit-1 6t A&l b Fei-I1 3t 7T o T AT e | giaal o A ST T % 1 JamT
I
Tt - 1 =t - 11
(a) T et 3Ty (i) 1991
(b) ST wrataes 11T HrseH (i) 1995
(c) VT URTRT 91eT Hem (iii) 1994
(d) TEHTT A AT TR (iv) 2001-02
£
@ @ @© (@
() @Gv) @Gi) Gy @
(2) @Gi) @Gv) Gy @
3 Gv) @Gi) @G 3G
@ @ G () 3[Gv)
64. TG 99 TSI H 9RA I SFOUAT 2011 o FER SHI@T & 39 o9 b 69 |
g?:aqaf@ﬁ HIT
(a) TErg (b) TR
(c) Teoot U TotaT & (d) THTTUL I
[ AN
(D) (a), (b), (0), (d)
(2) (b), (a), (0), (d)
3)  (c), (d), (), (b)
4  (c), (), (b), (d)
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65.

66.

67.

68.

Arrange the stages of curriculum in order of their usage :

(a) Final Package (b) Evaluation
(c) Content (d) Context
(e) Framework

Codes :

(1) (), (b), (), (d), ()
2) (), (e, (0), (D), (a)
(3) (), (d), (¢), (a), (b)
4 (c), (d), (b), (a), (e)

Arrange the states which are having the highest literacy rate as per the Census of India
2011 :

(a) Goa (b) Mizoram
(¢) Kerala (d) Lakshadweep
Codes :

(1) (), (c), (b), (d)
2 (0), (D), (), (a)
(3)  (b), (0, (d), (a)
4 (d), (), (c), (b)

Arrange the stages of planning as per their place from beginning to completion using the
correct code :

(a) Determination of objectives (b) Draw up plan of action
(c) Data collection and analysis (d) Evaluation

(e) Carry out the plan

Codes :

(1) (@, (b), (c), (o), (d)

(2) (0, (a), (b), (e), (d)

(3) (0, (b), (a), (e), (d)

4 (b), (a), (c), (o), (d)

According to the Census of India 2011, arrange the following States in the descending
order in order of populations size :

(a) Diu-Daman (b) Lakshadweep
(c) Dadra and Nagar Haveli (d) Andaman & Nicobar Islands
Codes :

(1) (), (), (a), (b)
(2) (@), (c), (b), (d)
(3)  (c), (a), (b), (d)
4 (D), (D), (@), (©)
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65.

66.

67.

68.

TIEHSHH o [HTAREd =0T i 39k TN o SFHR HANT il :

(a) 3 Yot (b) T
(c) forererereg (d) FH
(e) ww@l

—

- .

(1) (), (b), (), (d), ()
2) (), (@), (0), (D), (a)
(3) (), (d), (¢), (a), (b)
4 (c), (d), (b), (a), (e)

qRA I SFIUMT 2011 & TR Ioadd FERAT T aTet AT bl SFaed iy

(a) T (b) freiRw
(c) HA (d) oREY
C T

(1) (), (c), (b), (d)
2 (0), (D), (), (a)
(3)  (b), (0, (d), (a)
4 (d), (), (c), (b)

frefafEd $2t 1 T R g0 FASH o TROT P I IR F I HA dF & I & AR
a:aﬁsa?rﬁ%—mr:

(a) e 1 (HEROT (b) o IS T TR HAT
(c) 3RSl I HURUT Ua forvetyoT (d) ToaER

(e) AT HIIFEET T

T4

(1) (a), (b), (0), (e), (d)
(2) (), (a), (b), (e), (d)
(3)  (¢), (b), (a), (e), (d)
4 (b), (), (0), (e), (d)

qRA I SFIUET 2011 % AR ARG T bl SRl SHUEA % 3TaRel v H 2RI T :

(a) TSI (b) T
(c) TEY TS AR &oedt (d) 3feqH ud FHeEr g
R .

- .

(1) (), (), (a), (b)
(2) (@), (c), (b), (d)
(3)  (c), (a), (b), (d)
4 (D), (D), (@), (©)
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69.

70.

Arrange the following programmes in order in which they were implemented :
(a) National Technology Mission

(b) Swachh Bharat Mission

(c) National Mission for Women Empowerment
(d) Sakshar Bharat Abhiyan

(e) National Rural Health Mission

Codes :

(1) (), (e), (0), (d), (b)

(2)  (e), (a), (d), (c), (b)

(3) (), (@), (0), (b), ()

4 (), (e), (d), (c), (b)

Arrange the following steps of teaching in correct order by using the code given below :

(a) Attention (b) Action
(c) Interest and desire (d) Conviction
(e) Satisfaction

Codes :

(1) (), (c), (b), (d), ()
(2) (), (a), (b), (d), ()
(3) (@), (b), (0), (e), (d)
4 (c), (b), (a), (d), ()

Read the following passage and answer the questions : (71 to 75)

Distance Education (DE) is an umbrella term which describes all the teaching learning
arrangements in which the learner and the teacher are separated by space and time. In fact
it is a mode of delivering education and instruction to learners who are not physically
present in a traditional setting of a classroom. Transaction of the curriculum is effected by
means of specially prepared materials (self study learning materials) which are delivered
to the learners at their doorstep through media such as print, television, radio, satellite,
audio/videotapes, CD ROMs, Internets and World Wide Web etc. Also a technological
medium replaces the inter-personal communication of conventional classroom based
education that takes place between the teacher and the learners. Communication between
the institution, teacher and learners is mainly through electronic media (telephone,
interactive radio counselling, teleconferencing, video conferencing, chat sessions, email,
website etc.) and also through postal correspondence and limited face to face contact
sessions held at study centres that are set up by the DE institutions as close to the learners’
homes as possible.

Open learning, which covers a wide range of innovations and reforms in the
educational sector that advocates flexibility to the learner with regard to entry and exit;
pace and place of study; method of study and also the choice and combination of courses;
assessment and course completion. The lesser the restrictions, the higher the degree of
openness. The open learning system aims to redress social or educational inequality and to
offer opportunities not provided by conventional colleges or universities. Educational
opportunities are planned deliberately so that access to education is available to large
sections of the society.

Thus ODL, is a term which accepts the philosophy of “openness” and uses the
“distance mode” of learning.
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69. FAfcRad HRIHAT 3P FAFTIT & HH b IR FART T :
(a) T TR fHeE (b) T 9Rd HeH
(c) TS AfgeAT ATRIHIOT e (d) WER 9RA ANEE
(e) T AT W fHeH
ETE
(1) (a), (e), (¢), (d), (b)
() (e), (a), (d), (c), (b)
(3)  (d), (a), (c), (b), (e)
@ (a), (e), (d), (c), (b)

70. TETAREd e 1 TR Hd gU RTR0T o TR0 ST Tl 560 § SZaledd it :

(a) & (b) FRAE
(c) T 3R =1 (d) =ofERE
(e) W

G T

(1) (@), (c), (b), (d), ()
(2) (), (a), (b), (d), ()
(3) (@), (b), (0), (e), (d)
4 (c), (b), (a), (d), ()

ffeTfEe T=IieT ot g 3% Ul B ST S ; (71 H 75)

e fore (21.5,) Ueh U Tagiel € St rean- i serenat ot uikwiite shear & o fammet @i
3T T 3R TF & FR THGAY ¥ 376 8 € | aad H I8 S & PR 3R 3FRY S F TH
ey & ST o WREG e &% @R adiash & ¥ FoIed ¥ SUNed @l e | 39 Sl d
TR S TR TR ¥ TR B TS WS- (T T I Bl 8, S99 wfad g § ok 29
3 BRY T At A S o e, Sofifont, Mea, deomee, 9ea-59d Ui, WeI-AHi, $ete 3K dog
TS 3T NS o FRT TGAET ST & | T TT-TTY Teh1h! AT TR FATEH TR 9T o 37eR-
STSRTeh G %l 981 @1 € il foh 3Teaeh 3 O & 9 2idl & | 98, 3TeUeh 3] el &
3MME) & FRT 37X ST TAER a4 WA R T ST 5 91t S g1 Ty fafr=T 3Tera el §RT
TeTterd fohT STt € S BT o ¥R o o1&l el ¢ |

o Sttem, o forem &5 | ged e 3] GUR AT §, 98 D & Sgd oTdiel el & Sl 3qu
I ST T G AT o Wehdl 3IX 3 BT ool &, 3T S T 3K THI I T9 X Tohedl &, 3T Hhl
e I Tkl & | 3k WIA-H F ST HST F DG H AT H TR 6, Yo 3R IIHT T H
Thdd & | ST USifeaT A el el GolTd- o BN | Hor 1TTH b 299 WHIfIeh 7o Sifeqsh STaumen
T T AT & AT 3T STTE T ST FHEAT & ST 1o TR hieist ST favaiaenerd Sucted F&i o T
£ | 3ierep FSHIT 27 Wb § SIS ST =ieq STy o wamt o @t et ot e figer uiw |

31a: “3li feqeq afi we var mivoiiyes v1s & e fof “goto & fagid ol ST9=man i &
3 ST foreTr o “gue Arew o1 YA fohar STar € |
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71.

72.

73.

74.

75.

Distance education handles curriculum primarily through
(1) teachers in the classroom (2) counsellors in the study centres

(3) written materials for the learners (4) short stories written for the learners

The self-study materials prepared in distance education programmes can be delivered by
using the

(1) print technology.
(2) print, audio and audiovisual technologies.
(3) face-to-face interaction with the teacher.

(4) puppet mode.

Open learning advocates choice to the learner with regard to
(1) entry and exit only.

(2) entry and exit and pace and place of study.

(3) the institution for enrolment for the course.

(4) entry and exit, pace and place, and method of study.

Open learning reduces the incidence of
(1) only caste discrimination.

(2) only religious discrimination.

(3) only physical disability.

(4) social and educational inequality among people with variations in income and
resources.

The term “open distance learning” is followed in sprit by
(1) all traditional universities.

(2) all correspondence courses in traditional universities.
(3) only by institutions in the private sector.

(4) IGNOU and state open universities.
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71. XX o | UHshy B e B § ek AT ¥ UgErET S § 2
(1) FHET | TS F FRT
(2) 37T HaT H WRIHRRIATS R
(3) B & fefae |ml g
(4) B e fafaa sid weiar gr

72. U G OTeT UTGASR W T 3TeAa QT i b HTeEAW o T ST o UgEaT ST HehdT € 2
(1) e asi & 5/
(2) T, o1 3R 93599 qheiieh gRT
(3) 3TATEH % WY WER AT §RT

(4) I TTE FRT

73. TR SITH ST § F Y 99 e T 3TET TS AT € 2
(1) ac Jae o 3R Bie
(2) TORT & 3R Bie a1 3TeRa 1 9 3 T
(3) UERH H AT AN 8] G
(4) VORI T 3R BIEH, 3T o T, T 3T Th

74. TR AT T W QR AT E 2
(1) heret ST SewTer
(2)  heeT YET HEWTE
(3) HacT AN TG
(4) fafi= omg i T o <A 6 A 3R S SR

75. TR g0 At T W 9 ol R QU Bl € 9
(1) ot R foaferrmedr §RT
(2) TRET foraioenerd o Tt THrER qedshal §RT
(3) e S & & G 5N
(4) T 3R T TRIT T fovatomerl gr1
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